IIH|IIH||III U |
30000 h 0o
1]
il

'
10
BOS)

.I rnll.lil 1]
i

Tlllmlmlmlll?lllmumumt

l!lF!SlO

o 7
il

30
T

i
L

A 03:
gE
L L gy
Ob 02 0c Ov 05 09 0L 08 06 (O} O+ 0Z 0

e e e e et e L e

=

|I!|I|IIII|IIH

30 40 5 00 79 90 9

i
20

{1
10

0

B
BS181360

7o)lll|l
E 0l o
02 0c oy 05 09 o 03 0600} 01 0z oc ovos 09 0. 08 08 00C o1

st ol bbbt e b g

R e
0z 05 Ov 0S 09.0L 08 06 () OF 02"




T
200

ﬂiﬂlﬂﬂ

| |1Il||III|IIH (0T) T TR [ e

e

100 9
Ly

90900 10 20 30 4 g0

80
B‘ BOSI
85181360
50 60 70 80

|IIII|IIII|III|||IIi|lII!|III|||III|II!!||||||II||
LTI (Y

30 4
il

i
10 20
ol

—
g -
UL R R AR

T
ws g} 0z 0 Ov 05 09.0L 08 06 (Q} O 0Z 08
o

filin

002 01 0z oc ov 05

=20z 0c o 05 09 o, 0g 06 00l o1 oz oc ov0s 09 02 08 OGIUNGH
MOSMAANA 10 o o o o o e

Jp

ESRPS AL 1
SEnenenes

-------u...'& 2
TEXELLIN YA A Adl Ll 1

T e

»

E=
b

i




i

'r iy mllmllmll

|H|I|||Il|Ii|I|III||Ir||1t|i|]HH

1171 e e e

3 4 5% o 70 % 9209 1
100

(I

11} IIIW

J.l.l.lslﬂiu‘ﬂu_r

[

]3'»5
BS181360

—
-

. 70 80 90 100 10 20

POV EEVIPRLETOETDPRTED VLR ST g |
05 09 0L 08 06 (0} O+ 0Z OENES L 08 06(Q7 O+ 02 Ot O 0

luumwmwmnﬁgﬁﬁﬁﬁmiﬁhmn
it e it et o e v

[HH[IT ]

10 20 30 4

Qlunlulinuy

I—-—

e=
L

8

8
8
8 9
S

L

[




